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d fetter or symbof used 1o
represent an unrnown numper
or d qudntity, that varies.

txample: y=2x
X dnd y are variables



EXpression:

d combination of one or more
numpears, one or more variabfes,
or both numbers and variables.
Has operations, but not equals

sion.
-xampfes: x~9 1/2bh 52’




Part of an expression that is
ddded or subtrdcted.

-xample: 4, 3b, and b are aff
terms of the expression

4+3b+b°
1 1 1

Terms
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dn expression thaty does not
ncfude variables, ondy
numpers.

36 -(2+9)° 3 or 20-8+2



Order of Operations:
P: Parenthesis

F.: Exponents

[M/D: Mugbipy or Divide (eft to richt)

d/S: ddd or Subbrach (eft o richt,)
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dn expression that incfudes
One or more variables.

E.xampfes:

10(a+b) Tn S5x° —x



Substitube for variables if
needed 10 sofve dn expression.
- vafjuate 10(b+a)

when b=3 and g=h
10(b+a)= 10(3+4)= 10#7=70




PO ers

dn expression that incfudes an
exponent and repraesents repeated
mudbipfication.

The power is determined by the
exXpoNent.

4° (read as “Four to the bhird power™
means etk



d number, variable, or
expression that is raised to a
nower.

4 2
1 1s the base in this example



EXponents

In a power, the smafy, raised
number that indicates how
many bimes the base is used As

a tdcuor.
3 Is the exponent befow

4° =444 =64




Substitube vajues for the
variables in an expression and
then simpllity to £ind your answer.

E.xampie:
10(b*ad) when b=3 and ag=Y4
10(3+4) = 10«7= 70



IONS:

- xpressions vhat afways have the
same vadue.
Example: B+B+B = 3B
UeU+U+U+U= SU




Terms with the same variabies
raised to the same powers.
Example:
o+ 2% * 1+ X

6 and 1 are (ike berms, 2x and ¥
are (ike terms.



Pertorm operations and
combine alf {ike terms.
Example:
SIMpPRify: 3 + 5+ W +2,

o ]

#JOrK oub the expression step by step.



%
Z Z é Z
‘d 1 2
N 1 ?*
Z Z g U Z

Addition:

The property that states that

changng vhe order of factors

does noty change vhelr answer-.
Exampfe:

3+h+D = Dxl+3 or He8+2 = 24«8




The property that states changing
the grouping of tactors does not

change the product.
+ Think Friends

(9#15)#20 = 9+(15#20)
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Coellicienr:

The number of dterm when the
term is anumber Himes a variable
or dnumber times a product of

variables.
OX+2X(

5 Is the coefficient of the term bx and 2
Is the coefficient of the verm 2xy
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The property that affows us to
distribube afactor to the other
terms.

#Think foobbalf or a truck distribubing soda.

6(3+4)=06(3)+6(4)
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The greatest common factor
that tlwo numbers share.

F.xampie:
151sthe GCF of 30 and 55
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d diagram with two humber fines that
shows how o quantities refdatve to
edch other.

Fvampfe: The distance in mifes and the time it takes. 1
mife takes 15 minubes.

0 1 2 3
Miles o=t} } } !

Minutes

' ' '
0 15 30 45



)
///,\ 7 //’l\ly @
PICHD @3

In a refationship bettwesn two variables, the
variable that depends on the vafue of the other.

- wamp{e: The cost of gas, ¢, depends
on the number of gafions purchased
g. The cost, ¢, Is the dependent
variable.
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Independent Vo

In a refationship betwesn Hlwo
variables, the variabfe whose vajuas
it Yuence tvhe values of the other
variable.

Exampfe: The cost of gas, ¢, depends on
the number of gallons purchased g. The

number of gallons purchased, g, Is the
independenty variable.
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neguadlity:

d statement comparing two
expressions using greater than, {ess
than, greater than or equal o, fess

than or equal to, or not equal to.

><ZS¢

1+ [~10
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Solution Sefs

Greater than any whole number:
the number of sofutions is
undimited.

Exampfe:
>3 as an infinitye number of sofubions.
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d value vhat can be
substituted for the variable 1,0
Make a true statement.
Sofubion of nequality Sofubion of equabion
X=101s a sofutbion of X=H is a sofution of
X+3<20 because 10+3<201s 3x+1=13 because

brue ()=
12+1=13




Operations that undo each ovher.

dddition and subtraction are inverse
operations. [Mudbipfication and division are
nverse operdbions.

Exampfe: 5+9=1H, so 14=9=5



The product of anumber and
s mufbiplicative inverse is one.

,, e e 1
b Is the muftiplicative inverse of ¢

6ot =1
6



